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iplementation Environment

Language : C Language
IDE : Eclipse for C/C++
Complier : GCC (in MinGW)
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Implementation

unzigned short pw
char card = ' ';
password pw saved
char card saved =

Mbutton = 0
tmp Mb = 0;
ocC = 0:

cover = 0;
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u_tiKE = 0;
input time
cn?er_time
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zaved = pw_input();

T = -

r

L |

cover condl (&cover
oc condi (&0C) ;
ime = input fuonc(&pw,
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else if{card saved — card
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elze if(LU — O && OC — O

LU = 1;
lock{):

0) onlock():
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1f (cover time < 10 && cover

backlight (1) ;

backlight (0) ;
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O

| / Set for the Password input

PW Saved

/ Enable Lock

[Wrong PW || Card Key] /~ ™,
/ Standby for next input|

[PW || Card || MButton]

[O/C || MButton]
/ Enable Unlock

/ Enable Lcok



Implementation

password pw input ()

password pw;
onsi1gned short input = 0;

chnar 1

for{i = 0; 1 < 4; i++)

printf ("4 5|3 Hatda : ", i41); flush();
zcanf ("shd",
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J Standby Some Input (

L}

Standby
PW Input \

kY

T] /| Standby next Inﬁut

[PW Input ==

[Tick > 10 || Input > 2 && \ Lock
Tick_ 1 == Tick 2 == ... E="Tick— 1st PW Num \
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clock t© input func(un=signed short *pw

nn=igned short input = 0;
char i;

clock © tl, tZ;

tl = clock(};
for{i = 0; i < 4; it++)

printf ("Sds 8 (w2 - C { =EHEE L7 9 /) ", i+l); flush():

if {input = '!"'})

,.:"_';ﬁ--——,-\.:-_ — 1:_
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break;
;
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elze if('a' <

& oo oA
card

break;
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else if{input > 9)

input << (12 - (i*4)) ):

tZ = clock{();
if ((t2 - t1) > (INPUT TIME * CLOCKS PER 3EC)) break;
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rold lock ()

printf ("E= X F4d\n") ;

old onlock()

printf ("¥F=Z 2X E2\n") ;
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/

T .
[Tick > 1s] ~__  [Tick > 1.5s]

/ Alarmoff _ ~ /- Alarm off
- H{,f H_H_ R'H
7 _ ~~_ —
" [SavedPW == Input|PW] [Tick == 10] ~ .R'“‘a
/ output Alarm 1 / output Alarm 3 :

Alarm 3

[SavedPW = Input PW] | [Tick > 1s]
/ output Alarm 2 / Alarm off

Alarm 2
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vold alarml (int flag)

L

clock € tl, t2:;

if{flag = 1)

printf ("¥F1 £#H\n");
tl = clock():
for(::)

t2 = clock():

if ({t2 - tl) > (Al TIME * CLOCKS PER SEC)) break;

elze printf ("1 HE\n");
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